
A. Choose the correct answer: 
1. What is the result of 7,235 − 4,128? 

a) 3,117 
b) 2,107 
c) 3,107 
d) 2,117 

2. Which of the following differences will need borrowing? 
a) 6,432 − 2,120 
b) 4,305 − 1,110 
c) 3,500 − 2,488 
d) 5,000 − 1,000 

3. What is the correct difference of 9,000 − 4,356? 
a) 4,444 
b) 5,444 
c) 4,554 
d) 5,554 

B. Fill in the Blanks 

1. When we subtract 3,215 from 8,000, the difference is ______ 

2. Subtracting a number from itself gives ______ 

3. In subtraction, the number from which we subtract is called the ______ 

4. 9,999 − 1,111 = ______ 

5. In 6,052 − 3,214, the digit in the hundreds place of the answer is ______ 

C. Different Type Questions 

1. Subtract 4,872 from 9,405 and show the steps clearly 

2. A shopkeeper had ₹7,896. He spent ₹3,145 on goods. How much money is left? 

3. Use place value method to subtract 8,327 − 5,124 

4. Subtract 6,000 − 3,439 using column subtraction 

5. A train travelled 7,834 km in January and 4,580 km in February. How much 
more distance was covered in January? 

Subtraction of 4-digit Numbers 



D. Mark each sentence with a True (✔✔) or False (✘): 

1. Subtracting 4-digit numbers can sometimes require borrowing 

2. 7,000 − 2,000 = 5,000 

3. 5,678 − 5,678 = 1

4. We subtract digits starting from the ones place 

5. 6,432 − 2,431 = 4,001 

E. Miscellaneous Questions 

1. Subtract the smallest 4-digit number from the largest 4-digit number 

2. Write a real-life word problem involving subtraction of two 4-digit numbers 

3. Estimate the result of 7,846 − 3,127 by rounding both numbers to the nearest 
hundred 

4. Find the difference between 9,000 and 6,789 using borrowing 

5. A library had 4,230 books. 1,942 were issued. How many books are left in the 
library?  


